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Sl. No.1
QBID:1555041

Choose the correct form of verb to fill in the blank :

Risks come from not what you are doing ?

(1) have known
(2) known

(3) knowing

(4) know

T E S s e TR E 2
a 7

2) 4

3)

(4) H

1[Option ID=31201]
2[Option ID=31202]

3[Option ID=31203]
4[Option ID=31204]

Sl. No.2
QBID:1555042

Choose the appropriate preposition to complete the sentence :

Her request for a transfer was turned
(1) up

(2) for

(3) down

(4) through

fRasEtme
FE T YOI W s en Tl v o iR s o s 2 |
FUTI] : T & U 3 MUYR 95U o & - T $ YR T, Teg & o9 O a7 onf & Sum o2 |

TIRIGd BYF & S H, - 157 T THe & | 969 Jugad Jad B 997 S
(1) FuF] AR S T

(2) ] RIS ea &

(3) HYA1 W &, fes HuF 11 e &

(4) FY= ] 7o B, AfFT FuR 11 wE R

1[Option ID=31245]
2[Option ID=31246]
3[Option ID=31247]
4[Option ID=31248]

Sl. No.3
QBID:1555043

Pick out the correctly spelt word.
(1) impromptu

(2) mprounptn

(3) inpromputue

(4) inproptune

TEals &I f4uH §asy |

(1) wa=




(2) =
(3) W&

(4) sEds

1[Option ID=31273]
2[Option ID=31274]
3[Option ID=31275]
4[Option ID=31276]

Sl. No.4
QBID:1555044

Identify the correct indirect speech of the following sentence.

He said to me, "I don't believe you"

(1) He said that he doesn't believe me

(2) He told me that he didn't believe me.
(3) He told me that he didn't believed me.
(4) He told me that he didn't believe him |
Foffer fdsR e i SR I gs g
(1) =

(2) ==

(3) =

(4) wfeET

1[Option ID=31277]

2[Option ID=31278]

3[Option ID=31279]
4[Option ID=31280]

Sl. No.5
QBID:1555045

Rearrange the following parts of a sentence labelled PQRS to make a meaningful sentence.
P. overflow of powerful

Q. recollected in spontaneous

R. Poetry is a spontaneous

S. feclings - emotions
(1) QSRP

(2) RPSQ

(3) QSPR

(4) SQRP

S B FAF B9 T WK & ?
1) &N

(2) d9=:

(3) ©c

(4) H

1[Option ID=31281]
2[Option ID=31282]

3[Option ID=31283]
4[Option ID=31284]

Sl. No.6
QBID:1555046

Pick out the antonym of 'strength’

(1) meekness

(2) revenge

(3) frailty

(4) cnergy

ol i % W BT BT U Reg B W E 2
(1) SHAd

(2) T




(3) wTH
(4) &3

1[Option ID=31285]
2[Option ID=31286]
3[Option ID=31287]
4[Option ID=31288]

Sl. No.7
QBID:1555047

Choose the correct sentence.

(1) He had not left. we would have been forced to evict him
(2) Hadn't he left we would have been forced to eviet him.
(3) Had he not left. we would have been forced to evict him

(4) He not had left. we would have been forced to eviet him.
FfeEt IR FEET e B wa e s W 2

(1) gmE &=

(2) FEMRT &A1

(3) TEI H FA1

(4) =mw F4

1[Option ID=31289]

2[Option ID=31290]

3[Option ID=31291]
4[Option ID=31292]

Sl. No.8
QBID:1555048

Choose the correct passive voice form of the following sentence.

He may have eaten the cake.

(1) The cake might have been eaten by them.
(2) The cake may have been eaten by him.
(3) He had eaten the cake.

(4) The cake might have been eaten by him.
FEftiEs & 9 g% 990 1 994 S |

(1) =i ¥ By 7 H |

(2) == R By 7T B |

(3) == W&l B H |

(4) == ¥ By 5l =4 |

1[Option ID=31293]

2[Option ID=31294]

3[Option ID=31295]
4[Option ID=31296]

Sl. No.9
QBID:1555049

Pick out the synonym of the following word - 'captivating'.
(1) disappointing

(2) frightening

(3) fascmating

(4) frank

et ST = T e |

1) ==

(2) wgF

(3) "

(4) =R

1[Option ID=31297]
2[Option ID=31298]
3[Option ID=31299]
4[Option ID=31300]

Sl. No.10
QBID:15550410




Identify the part of speech of the underlined word m the following sentence.

Let us even the ground.

(1) Verb

(2) Adverb

(3) Noun

(4) Adjective

FEfET S o o Fy 9 T E

(1) & & mht fadioot =1 vgr Swelt & TE e g |
(2) Ry A T IR ERE s |
(3) fad & gy o Ug Fu e E |

(4) I fasm & g U § - g ok 9w |
1[Option ID=31205]

2[Option ID=31206]

3[Option ID=31207]
4[Option ID=31208]

Sl. No.11
QBID:15550411

Who has been appointed as the new chief economic advisor (CEA) to the Government of India ?
(1) V Anantha Nageswaran

(2) Arun Kumar Singh

(3) Vijay Sharma

(4) Kartik Sen Gupta

7 | B HRd WPR $ A0 T H1fie qaesr (@50 & 0 f Fgadgu s

(1) g 3T TEERA

(2) R0 FARRE

(3) farwa =i

(4) FIf® T

1[Option ID=31209]
2[Option ID=31210]
3[Option ID=31211]
4[Option ID=31212]

Sl. No.12
QBID:15550412

Which of the following companies are among the recently created 7 new Defence Public Sector Undertaking Companies, which were
created through restructuring of OFB (Ordiance Factory Board) ?

A. Weapons India Limited
B. Munitions Indian Limited
C. Yantra India Limited

D. Gliders India Limited

Choose the correct answer from the options given below :
(1) A.B and D only

(2) CandD only

(3) A, C and D only

(4) B. C and D only

e eF-8 a3 g € | 7 70 adale e Susn Sutmt wifta #91 2 B9 emgy B 818 &1 gada 3 % mream @ s fean m
o 2

A. 9 gz fafes

B. ®gi-iw 3w givsan fefcs
C. 49 sfisu fofies

D. wzsy sfsa faftes

H19 fay 7y el # ¥ w9 Iuged IR &1 904 S
(1)




FTTA, B AR D
(2) HaaC FRD

(3) FAA. C 3R D
(4) ¥Ia B, C 3R D

1[Option ID=31213]
2[Option ID=31214]
3[Option ID=31215]
4[Option ID=31216]

Sl. No.13
QBID:15550413

Name of the autobiography of Kamala Das is :
(1) My Story

(2) ListenI Tell You

(3) Wings of Fire

(4) Autobiography of an Unknown Indian

HHA G B HGY] BT 1 o

(1) = =l

(2) fTRF g ew g

(3) & &% B

(4) SIEEERETE! 3t s=-H 3f5aq
1[Option ID=31217]

2[Option ID=31218]

3[Option ID=31219]
4[Option ID=31220]

Sl. No.14
QBID:15550414

A small organ at the base of the brain that produces substances that affect growth and sexual development (hormones) is called :
(1) Pituitary Gland

(2) Hypothalamus

(3) Pineal gland

(4) Adrenals
AiETF ¥ 1R # G 0@ 0y o 59 TeR & a1l &1 303 #a1 ¢ 9 g gfs SR dFe e @ria) & wifda #va 8 9 & seaa ©

A, Treged Uiy
B. souidwHd
C. difua %
D. tgHT

9 fag Ty R # § 9a9 SUge IR @ 909 S
(1) FAA. B R D

(2) Haa A AR C

(3) FWAA. B iR D

(4) Fa A FRD

1[Option ID=31221]
2[Option ID=31222]
3[Option ID=31223]
4[Option ID=31224]

Sl. No.15
QBID:15550415

Who among the following is the first woman to receive two Nobel Prizes ?

(1) Marie Curie

(2) Andrea Ghez

(3) Donna Strickland

(4) Maria Goeppert Mayer

fmfafEs # 9 < 59 PR uId S I e ARm EE R 7
(1) #a =gl




(2) witggr g
(3) = fEs s
(4) wifmn Tew? 7w

1[Option ID=31225]
2[Option ID=31226]
3[Option ID=31227]
4[Option ID=31228]

Sl. No.16
QBID:15550416

In a certam code language

"uo ja ka hu" means 'we great Indian country’,
"o1 ka la ju" means "we score good highest'.

"la fu ja ju" means "India score the highest”

and "ju uo na fu" means "highest of the country”.

Then what is the code of "great” in this code language ?
(1) uo

(2) ka

(3) ja

(4) hu

T a8 $e W H

"uo ja ka hu" #1 2% § 'we great Indian country'.
"oi ka la ju" ¥ 3% & 'we score good highest'.

"la fu ja ju" #1 2 § "India score the highest"

3R "ju uo na fu" #1 o~ € "highest of the country”.

1 59 BT W & "great” 1 FT AL ?
(1) uo
(2) ka
(3) ja
(4) hu

1[Option ID=31229]
2[Option ID=31230]
3[Option ID=31231]
4[Option ID=31232]

Sl. No.17
QBID:15550417

If "A@B" means A is the mother of B
"A#B" means A is the father of B

"A z B" means A is the son of B

How is X related to Z from the given equation ?

XzYzs Z
(1) X is the grandson of Z.
(2) Z is the grandson of X.

(3) Z is the father of X.
(4) Z is the mother of X




ot rA@B  FefEfr A B HE
"A#B I EfE A BEI U €

"Az B"& 2 fF A BFEE

AR R TR S YR R X F Z e ey ?

Xz Yz Z

(1) X, ZH o g |
(2) Z,X® U@ g |
(3) Z.XH g
(4) Z. XS A@IE |

1[Option ID=31233]
2[Option ID=31234]
3[Option ID=31235]
4[Option ID=31236]

Sl. No.18
QBID:15550418

Global Hunger Index is released by which of the following organizations ?
(1) World Health organisation

(2) Concern Worldwide & Wealthungerhilfe

(3) Food and Agriculture organisation

(4) World Food Programme

Frafafaa 9 9ea an diYs Yol meies ol fFa e 2 2

(1) fay =y e

(2) T JESAIES TS dRER TS5

(3) T UE HY o

(4) fay wrg sriwH

1[Option ID=31237]
2[Option ID=31238]
3[Option ID=31239]
4[Option ID=31240]

Sl. No.19
QBID:15550419

Seven dance students- T. U, V, W, X, Y and Z - are to give a performance. and the judges have to decide the sequence in which they
will perform. Each student will perform exactly one item. a solo ballet. In deciding the order of performance. the mstructor must observe

the following restrictions :

1. X cannot perform first or second.

2. W cannot perform until X has performed.

3. Neither T nor Y can perform seventh.

4. Either Y or Z must perform immediately after W.

5. V must perform either immediately after or immediately before U.

If U performs third, what is the latest position in which Y can perform ?
(1) Fifth

(2) Sixth

(3) Seventh

(4) Fourth




e mF@es -T,U, V. W, X, Y IR Z - 5 t= Ja0gfk &l ¢ ok Fofost 1 s Fot s e r om e wr Ao &1 1 eem &
&% UF T 5 § - OF U o0 F w0 F | T = 54 uiia e o9 Prine % B ofaes @ oo s i §

. X U598 91 §FN wH TR WG 6l § S |

X % vEfe &3 @ ved W WY A & Tt |
ATNTMRAV Y I SAR TG § T ¢ |

. W & gid 91 Y U1 Z & WEdia 41 5l |

.U & 90 Ugd 91 g3a 918 § V &1 WRgf &1 9y |

7Y - gfg U JFe 0 IR IR 301 & d Y Sfiean o9 wgfa § Ieai s ?
(1) gid

(2) @ad

(3) =

(4) =g

1[Option ID=31241]

2[Option ID=31242]

3[Option ID=31243]
4[Option ID=31244]

Lh o La =

Sl. No.20
QBID:15550420

A country has seven major cities - A, B. C. D. E. F and G. Three flights labeled X. Y and Z are available to connect the cities following
the rules :

Flight X has its ends at A and C, and passes through B only.

Flight Y has its ends at B and C. and passes through D only.

Flight Z has its ends at E and G, and passes through F only.

Directly connected cities are those cities between which there is no other city to land any flight.

Which of the following city is directly connected to the most other cities 7
1) A
(2) C
3) B
(4) D

qa%ém;mﬂ;rgam%‘-A.B. C.D.E.F 3R G. Fuftfaa i s o s gu s el @1 sme A Wiss S R dA g SsH X, Y, Z
SO0 & :

TEAX ASRCH A2 IR FT0B I e [oRdl 2 |
TR Y F R B ARCRE AR TE FI0D & 552 o & |
TEFZ FTRE iR G W 3R 75 590 F ¥ §92 oRal & |

I Ted &1 H1 ST go WeX A1 o 1 & e &9 SgH #1 90w & [y B R W AR

o § 9 = a1 we ofis ge wed ¥ 9 dR W sl ¢ -
1) A

2) C

3) B

(4) D

1[Option ID=31249]

2[Option ID=31250]

3[Option ID=31251]
4[Option ID=31252]

Sl. No.21
QBID:15550421

In how many different ways can the letters of the word AUCTION be arranged in such a way that the vowels always come together ?
(1) 676
(2) 476
(3) 578




(4) 576

AUCTION ¥ie2 % a0 &1 fba-l yeR § saityd o o 9o 2, ford et wea us 9y o 2
(1) 676

(2) 476

(3) 578

(4) 576

1[Option ID=31253]

2[Option ID=31254]

3[Option ID=31255]
4[Option ID=31256]

Sl. No.22
QBID:15550422

The surface area of a cube is 1734 s.q. em. Then volume of cube is...
(1) 289 em?

(2) 4913 em?

(3) 4931 em?

(4) 4319 em?

TF T F1 98T g 1734 7 Wi 2 o o9 @1 sroae e g 2

(1) 289 em?

(2) 4913 cm?

(3) 4931 em?

(4) 4319 em?

1[Option ID=31257]
2[Option ID=31258]
3[Option ID=31259]
4[Option ID=31260]

Sl. No.23
QBID:15550423
If v 1 .then_vcl+y2
y 3 -y
(1) —E
4
(2) 4
5
3) 2
4
(4) i
5
afg x 1 WPy fEEmEm e
y 3 2=y
1) -
4
(2) —i
5
3) E
4
(4) <
5

1[Option ID=31261]
2[Option ID=31262]
3[Option ID=31263]
4[Option ID=31264]

Sl. No.24
QBID:15550424

How much time will it take for an amount of F 4.5% to yield ¥ 81 of interest at 4.5 % per annum of simple interest 7
(1) 4 years
(2) 5 years




(3) 3 years

(4) 6 years

T 450 B IR & T 4.5% A YR O S X A A F FIH F 81 VI FwA F {1 w6 wirm 2
1) 4ad

(2) 5ad

3) 3ad

(4) gad

1[Option ID=31265]
2[Option ID=31266]
3[Option ID=31267]
4[Option ID=31268]

Sl. No.25
QBID:15550425

The average of 7 consecutive numbers is 20. Then sum of smallest and greatest number is
(1) 23

(2) 17

(3) 40

(4) 30

7 SHHNTG ST BT 39d 20 & o S99 B¢ U 99 S51 T S 4 fhaen g 2
(1) 23

(2) 17

(3) 40

(4) 30

1[Option ID=31269]

2[Option ID=31270]

3[Option ID=31271]
4[Option ID=31272]

Sl. No.26
QBID:1111514841

Ashavali brocade is the traditional textile of
(1) Varanasi

(2) Paithan

(3) Kanchipuram

(4) Ahmedabad

et ot Fafafea 4 4 ool &1 e s 8 2
(1) grRRE

(2) TB=

(3) HEIGH

(4) “SfeHeEg

1[Option ID=29401]

2[Option ID=29402]

3[Option ID=29403]
4[Option ID=29404]

Sl. No.27
QBID:1111514842

Apart from Gujarat and Bengal. which place was the main supplier of cotton

(1) Kashmir

(2) Coromandel

(3) Mathura

(4) Paithan

ToRTd SR S & =ifaivad, FEfkiEd § 9 B 9 R q4 (@) S 9EE Agfiiedl o1 ?
1) F=i

(2) =REsEA

(3) "YU

(4) M

1[Option ID=29445]
2[Option ID=29446]




3[Option ID=29447]
4[Option ID=29448]

Sl. No.28
QBID:1111514843

In the early seventeenth century which textiles were the most global among the various manufactured and non-manufactured
comimodities entering long-distance trade in the period between 1500 and 1800 ?

(1) Jute

(2) Silk

(3) Wool

(4) Cotton

TEdl Tel & WRH H awa-ona | Fafafea § @ o9 § o= faftm Pmia od fr-fatan awged & d 1500 SR 1800 F 19 #1 onfy # ot gl & oraam
¥ i dfds 4 7

(1) 92

(2) wm

(3) F4

(4) 3

1[Option ID=29489]
2[Option ID=29490]

3[Option ID=29491]
4[Option ID=29492]

Sl. No.29
QBID:1111514844

Ferrous Sulphate yields the following color on cotton fabric
(1) White

(2) Red

(3) Black

(4) Yellow

s Febe Yol s W Faff@d & I sH-araraars 2

(1) I%Hg
(2) dld
(3) Pl

@) diar

1[Option ID=29533]
2[Option ID=29534]
3[Option ID=29535]
4[Option ID=29536]

Sl. No.30
QBID:1111514845

The floral creeper design in Paithani sari 1s locally popular as
(1) Phool bel

(2) Ashavali

(3) Bel buta

(4) Bel buti

ol A1l & s@ g2 foud o (wiRe #1w) e ety v w Fafiled 3 9 G am W ol g
(1) s
(2) amEEe
(3) =T
(4) I

1[Option ID=29577]
2[Option ID=29578]
3[Option ID=29579]
4[Option ID=29580]

Sl. No.31
QBID:1111514846

Tapestry technique is used to join the main body with pallu of which sari?
(1) Kanchipuram

(2) Paithani

(3) Ashavali




(4) Pochampally

o mafeT 2o Wit =1 war FafiEa & 9 g ol &1 uee & 9 gy U § Sied § e o @ 2
(1) Fiwlaee

(2) Fari

(3) 3=

(4) drgAg

1[Option ID=29621]

2[Option ID=29622]

3[Option ID=29623]
4[Option ID=29624]

Sl. No.32
QBID:1111514847

Gabba is a

(1) Shawl

(2) Rug

(3) Wall hanging
(4) Sarn

T PRf@T A S & 8 2
(1) =i

(2) ¥

(3) Tl erfavy
(4) wEt

1[Option ID=29665]
2[Option ID=29666]

3[Option ID=29667]
4[Option ID=29668]

Sl. No.33
QBID:1111514848

Which traditional textile is woven at Khaitoon village ?
(1) Telia rumal

(2) Bagru

(3) Kota doria

(4) Ajrakh

fmfafEa § 9 5 o IRuite e S e A g g 2
(1) it =Hr|

(2) TFETH

(3) =i s

(4) aidE

1[Option ID=29693]

2[Option ID=29694]

3[Option ID=29695]
4[Option ID=29696]

Sl. No.34
QBID:1111514849

Which oil is used to prepare rogan ?
(1) Kerosene oil

(2) Castor oil

(3) Coconut oil

(4) Mustard oil

T dIR @A & fore Fafafea 4 9§ o5 @ dd wan e eman g 2
(1) I dd

(2) Wsdd

(3) TiEd aa

(4) g dd

1[Option ID=29697]
2[Option ID=29698]




3[Option ID=29699]
4[Option ID=29700]

Sl. No.35
QBID:11115148410

Pattu and Dohru are traditional textiles of

(1) Varanasi

(2) Gujarat

(3) Himachal Pradesh

(4) Kashmir

Ueg 3R g Mafiiad § 8 8l & IRIRS 9 § 2
(1) R

(2) ]IG 0d

(3) feAEa wew

(4) ﬁQ}:”Q

1[Option ID=29405]
2[Option ID=29406]
3[Option ID=29407]
4[Option ID=29408]

Sl. No.36
QBID:11115148411

Sualkuchi village is situated in
(1) Assam

(2) Punjab

(3) West Bengal

(4) Goa

G Tifa Pel fUT & ?
(1) 38H

(2) 9o

(3) dfgm &

(4) i

1[Option ID=29409]
2[Option ID=29410]

3[Option ID=29411]
4[Option ID=29412]

Sl. No.37
QBID:11115148412

Which mstrument is played during narration of the heroic deeds of Pabuji?
(1) Tabla

(2) Ravanhatta

(3) Sarangi

(4) Flute

Tl F dRITEd FEi & E F IRE Fufifd § § $149 91 a5 Sum o & 7
(1) o=

(2) YauEdn

(3) =

(4) =gl

1[Option ID=29413]

2[Option ID=29414]

3[Option ID=29415]
4[Option ID=29416]

Sl. No.38
QBID:11115148413

Barmer is famous for
(1) Hand embroidery

(2) Applique work
(3) Weaving
(4) Leather craft




e FEfEa § § fros e vfas 2 2
(1) T =dEER

(2) iR =

(3) TS

(4) =7 farem

1[Option ID=29417]
2[Option ID=29418]
3[Option ID=29419]
4[Option ID=29420]

Sl. No.39
QBID:11115148414

Which pamted textile is associated with Vaghri community ?
(1) Patachitra

(2) Picchwai

(3) Mata ni pachedi

(4) Kalamkari

fmfafaa § 9 17 o ffyg o9 @2 tevege) vl Sem S d9ug 2 ?
(1) wekm

(2) fow

(3) =EH TSl

(4) ToFRENl

1[Option ID=29421]

2[Option ID=29422]

3[Option ID=29423]
4[Option ID=29424]

Sl. No.40
QBID:11115148415

Neelambari is woven in
(1) Kashmir

(2) Shantipur

(3) Paithan

(4) Barmer

Josd feRfEa S e e w2 2
1) =R

(2) =ifegz

(3) TBa

(4) =

1[Option ID=29425]
2[Option ID=29426]

3[Option ID=29427]
4[Option ID=29428]

Sl. No.41
QBID:11115148416

Doupion is a kind of

(1) Cotton

(2) Silk

(3) Wool

(4) Nylon

Sifta= Fmfafaa § 3 as yer 2 2
(1) FieA &)

(2) e (=)

(3) T (&)

(4) FgdE

1[Option ID=29429]
2[Option ID=29430]
3[Option ID=29431]
4[Option ID=29432]




Sl. No.42
QBID:11115148417

Leno, tucked-in, Fused, fringed are different types of
(1) Laces

(2) Hoisery

(3) Selvage

(4) Fabrics

Foftifaa & & i1, T9e-37, s, firors s im TeR § 7
(1) =g

(2) &gl

(3) Hww

(4) Hfy=w

1[Option ID=29433]
2[Option ID=29434]
3[Option ID=29435]
4[Option ID=29436]

Sl. No.43
QBID:11115148418

Back strap. warp weighted and pit are different types of
(1) Shuttles

(2) Powerloom

(3) Handloom

(4) Warping

¥F 2y 9] 3¢ ok T e 4 3 e fe ver 2 2
(1) =T @3

(2) TRl S @EEm

(3) TUH EFSH)
(4) aifif

1[Option ID=29437]
2[Option ID=29438]
3[Option ID=29439]
4[Option ID=29440]

Sl. No.44
QBID:11115148419

Vertical columns of stitches in the knitted fabric are called as
(1) Course

(2) Technical face

(3) Warp

(4) Wales

T4 gY iew & diea & daad wiom @ m I v 9 g 2
1) =

(2) iF7@a e

(3) T @=F)

(4) o=

1[Option ID=29441]
2[Option ID=29442]
3[Option ID=29443]
4[Option ID=29444]
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Gauge refers to

(1) Picks per inch

(2) Grams per square metre
(3) Needles per inch

(4) Ends per inch

e ffafaa & 3 fras dEfim




1) giga=ga

(2) wfey o1 e am
(3) ufy g9 Rems &
(4) wioga Tam=

1[Option ID=29449]
2[Option ID=29450]
3[Option ID=29451]
4[Option ID=29452]
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Open air, Kier boiling, J-box method are different types of
(1) Finishes

(2) Washes

(3) Bleaching techniques

(4) Calendaring techniques

T TR, FR w7, 9-siew Ay HofaEa § & s ffimrer 22
(1) ofrgen

(2) &+

(3) & uiafy

(4) Fevsyw wiEfy

1[Option ID=29453]

2[Option ID=29454]

3[Option ID=29455]
4[Option ID=29456]
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Resiliency property is most desirable in
(1) Carpets

(2) Sweaters

(3) Sarees

(4) Trousers

o st qu P § 3 faod woifs asdu s 2
(1) &R

(2) W=

(3) Wt

(4) SIS

1[Option ID=29457]

2[Option ID=29458]

3[Option ID=29459]
4[Option ID=29460]
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Ghirodes are types of
(1) Persian knots

(2) Turkish knots

(3) Macrame knots

(4) Asymmetrical knots
MeaS (GRig) FaffEa & 3 fTus R
(1) Fre s

(2) 7%

(3) FHMW i

(4) rgEfT s
1[Option ID=29461]
2[Option ID=29462]

3[Option ID=29463]
4[Option ID=29464]

Sl. No.49
QBID:11115148424




Bhadohi is a cluster popular for making
(1) Shawls

(2) Tapestry

(3) Carpets

(4) Brocades

HaTel e 47 Fafafee 7 9 ous fem sy wis 2 2

(1) =g

(2) FEve/dErad
(3) A

(4) &

1[Option ID=29465]
2[Option ID=29466]

3[Option ID=29467]
4[Option ID=29468]
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Khandua is a product of

(1) Patan, Gujarat

(2) Naputana Handloom Cluster, Orissa
(3) Pipli, Orissa

(4) Paithan, Maharashtra

o Fefifa ¥ ¥ s w1 aae 2 2

(1) =S, oRTd

(2) T ESH Fey, SATSmET

(3) dimdt, sfemn

(4) U8, HENIP

1[Option ID=29469]
2[Option ID=29470]
3[Option ID=29471]
4[Option ID=29472]
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Kasavu is a cotton brocade of
(1) Karnataka

(2) Andhra Pradesh

(3) Kerala

(4) Odisha

Hrq HRfciad 0 8 Pel &l dlcA ol g -
(1) FAleHd

) 3fimes

(3) &N

(@) fsier

1[Option ID=29473]
2[Option ID=29474]
3[Option ID=29475]
4[Option ID=29476]
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The long length man-made yarns are called

(1) Complex

(2) Filament

(3) Spun

(4) None of these

sgndaamefffa g mesea
(1) g

yarns.




(2) &
(3) FIA1EAT

(4) I35 76

1[Option ID=29477]
2[Option ID=29478]
3[Option ID=29479]
4[Option ID=29480]
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Which 1s an elastomeric fabric ?
(1) Acrylic

(2) Mod Acrylic

(3) Nylon

(4) Spandex

vl wus et A d sm W g 2
(1) uisfos

(2) #ArsuimRE

(3) =g

(4) o7

1[Option ID=29481]
2[Option ID=29482]
3[Option ID=29483]
4[Option ID=29484]
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When the elements of design work well together is achieved.
(1) Rhythm

(2) Balance

(3) Proportion

(4) Harmony

oId 3 ed & dd Uh 91y HalHiTa &1 sd 8, dl Fefaad ara giare
1) g

(2) e

(3) SIHId

(4) 499

1[Option ID=29485]

2[Option ID=29486]

3[Option ID=29487]
4[Option ID=29488]
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The process of converting fibres directly into fabricis
(1) Weaving

(2) Spinning

(3) Knitting

(4) Felting

= g FUS § FUo #1 i 9 R W FEen §

(1) T

(2) =a®

(3) FEEA

(4) -Hed

1[Option ID=29493]
2[Option ID=29494]
3[Option ID=29495]
4[Option ID=29496]

Sl. No.56




QBID:11115148431
Lightness or darkness of a colour is known ag

(1) Value
(2) Intensity

(3) Brightness

(4) Dullness

Tt 71 BT gewprg A1 e efifEd A 9 su U & ST o 8 2
(1) Hd

(2) Wedl

(3) 99D

(4) Hadl

1[Option ID=29497]
2[Option ID=29498]
3[Option ID=29499]
4[Option ID=29500]
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Silkisa  fibre.
(1) Cellulosic

(2) Protein

(3) Synthetic

(4) Man Made

(1) SgEeE

(2) =

(3) wuardt

(4) mg-fHa
1[Option ID=29501]
2[Option ID=29502]

3[Option ID=29503]
4[Option ID=29504]
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is the art of creating designs for knitted, woven and non-woven fabrics.
(1) Illustrations
(2) Textile Designs
(3) Falt
(4) Sketches
Frofafén # ¥ == g7 gu (FEs). T8 3R R-§7 50 (7999 F9s! % fg fegss & Fmim &t &e1 2
(1) el
(2) = fEemgA
(3) e
(4) w9
1[Option ID=29505]
2[Option ID=29506]

3[Option ID=29507]
4[Option ID=29508]

Sl. No.59
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is the basic unit of textile.
(1) Fabric
(2) Yarn
(3) Fibre
(4) Cloth
T F T 3 MEMEa S S e A § 2

(1) HfEam )




(2) &
(3) ¥mn
(4) =UST

1[Option ID=29509]
2[Option ID=29510]
3[Option ID=29511]
4[Option ID=29512]
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Unfinished fabric is also known as
(1) Toile

(2) Kutch

(3) Makmal

(4) Grey cloth

suivpd Sus &I ety 9m 9 ff o e 7
(1) zigg

(2) &4

(3) HOHEA

(4) ¥ ®HST

1[Option ID=29513]

2[Option ID=29514]

3[Option ID=29515]
4[Option ID=29516]
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Feel or hand of the cloth s its .

(1) Texture

(2) Strength

(3) Fall

(4) Drape

ST eI ST WA gHEl _ BAIE:
(1) dg-fe=m

(2) Fo

(3) wIa

(4) =U

1[Option ID=29517]
2[Option ID=29518]
3[Option ID=29519]
4[Option ID=29520]
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Which fiber is popularly called ‘Golden fiber’ ?

(1) Cotton

(2) silk

(3) Jute

(4) Flax

FrafaRad o 9 & -9 W= Tieed BIgaR & 1 4 dBiE § 2
(1) el @)

@ fem

(3) 9¢

4) iy

1[Option ID=29521]
2[Option ID=29522]
3[Option ID=29523]
4[Option ID=29524]

Sl. No.63
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Blends are combination of  fibers.
(1) Same

(2) Bonded

(3) Different

(4) None of these

Ity (=) FeEfad f 3 P s dae e e
(1) JHHE

(2) §g

(3) fig

(4) STH I DI Tel

1[Option ID=29525]
2[Option ID=29526]
3[Option ID=29527]
4[Option ID=29528]
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Sizingisa____ treatment.

(1) Cleaning

(2) Finishing

(3) Dyeing

(4) Printing

Fraom @ehim) Prafifea § A S @ fem € 2
(1) AreiF

(2) gREHR0T

(3) 5

(4 TE0

1[Option ID=29529]
2[Option ID=29530]
3[Option ID=29531]
4[Option ID=29532]

Sl. No.65
QBID:11115148440

In _ amesh is used to transfer ink onto a substrate.

(1) Dyeing

(2) Batik

(3) Screen printing

(4) Weaving

Froftifea & 4 frad a9 @Toiy) &1 W0 $Rigd STSad Wel & WFE & [ & o1 & 2
1) A

(2) =ifes

(3) =i fiffdn

(4) g

1[Option ID=29537]
2[Option ID=29538]
3[Option ID=29539]
4[Option ID=29540]
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Dabuis __ printing style.

(1) Resist

(2) Tie & Dye

(3) Egyptian

(4) Stock

Ty foffE & § $0-9 g5 @s) A E 7
(1)




EILRL
(2) -
(3) fodt
(4) =5y
1[Option ID=29541]
2[Option ID=29542]

3[Option ID=29543]
4[Option ID=29544]
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is a short fiber that is measured in inches or centimeters.
(1) Filament
(2) Staple
(3) Course
(4) Bonded
_ e NS & off 59 3T §Ediel E 11T o & ;
(1) TFoEe [@g
(2) =ga
(3) =
(4) Tigs
1[Option ID=29545]
2[Option ID=29546]

3[Option ID=29547]
4[Option ID=29548]
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Ancient Egyptians used-fibre for bandages for mummification
(1) Cotton

(2) Linen

(3) Jute

(4) Silk

T forerareh st Frwor widpan & R ufedl Sq P & @ R X o1 v a=a 42

(1) Hleq
2 fema
(3) €

4 e

1[Option ID=29549]
2[Option ID=29550]
3[Option ID=29551]
4[Option ID=29552]
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In which device the woven fabric holds under tension.
(1) Cloth beam

(2) Shuttle

(3) Warp beam

(4) None of these

TR i TS i s o aea e wAE ?
(1) =Y & @ 5

(2) ¥ed

(3) d-& &3

(4) T A BIE TG

1[Option ID=29553]

2[Option ID=29554]

3[Option ID=29555]
4[Option ID=29556]

Sl. No.70
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Singeing of cotton is carried out to

(1) Remove protruding fibres from fabric surface.
(2) Impart lustre

(3) Cut long threads from fabric surface

(4) Increased pliability of fibres

Fefifed 4 @ o fig o1er & gooT o 2 2

(1) 9% P Fag & afe: Ja = B 5o F o

(2) ®ifes g $3 & fag

(3) HUS HI ¥z 9 vd YNl S Hled & Ry

(4) = B H=RIE & =g & (o0

1[Option ID=29557]
2[Option ID=29558]
3[Option ID=29559]
4[Option ID=29560]
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The second largest producer of silk is

(1) Thailand

(2) China

(3) India

(4) Brazil

=W P g waiid® Jaes on FehEa g dsH e ?

(1) ydTs
(2) 9
(3) WG
(4) s

1[Option ID=29561]
2[Option ID=29562]
3[Option ID=29563]
4[Option ID=29564]
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The fabric with lot of yarns laid lengthwise, crosswise and/or diagonally into the fabric is
(1) Wool fabric

(2) Georgette fabric

(3) Knitted fabric

(4) Chiffon fabric

a8 YS! forad darg 1, fove diers o iR/ a1 fade = o sHa! urll d §918 &1 715 gidl 6. dedldl ¢ :
1) g hige

@) e hiss

@) s Biss

) Reie Bisw

1[Option ID=29565]

2[Option ID=29566]

3[Option ID=29567]
4[Option ID=29568]
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The properties like Skin-friendly wear properties. air permeability, water resistance. and moisture take-up come under
(1) Physiological properties of wear

(2) Aesthetic properties of wear

(3) Biological properties of wear

(4) Chemical properties of wear

< - Sl IS fARITTE SHE-aTg YRR, STadfoR e, Tt Hikg-arel! fagard FemfaRad & 9 fege siarfd simdl g




1) §q Bl IRR(BGITED [G=wd
Sy [l [

(2) Ir<dxe faumar

(3) od &I Sidfaq—d AL

(4) Sd DI IS [Gyar

1[Option ID=29569]
2[Option ID=29570]
3[Option ID=29571]
4[Option ID=29572]
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An example of high-performance inorganie fibre is
(1) Ramie

(2) Flax

(3) Wool

(4) Glass

3o (I8 @S BIgal &I Jalexvl HHiiied § ¥ $H-T1 8 2

(1) A
(2) Tigg
(3) F

(4) TYD (PId)

1[Option ID=29573]
2[Option ID=29574]
3[Option ID=29575]
4[Option ID=29576]
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Technical textile is a textile product manufactured for
(1) Aesthetic purpose

(2) Non-functional purpose

(3) Functional purpose

(4) Non-aesthetic purpose

dE-ia! o #1 gdig AEfifEa A 4 feasg Rfa gar g 2
(1) dr=iweE e

(2) RysHiEs 35w

(3) vEEiEs

(4) R-AA=IRE Se

1[Option ID=29581]
2[Option ID=29582]
3[Option ID=29583]
4[Option ID=29584]
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Assertion A : 60 tex means 1000 meter of yarn weighing 60 grams.
Reason R : In the indirect count system. length is defined.

(1) Both A and R are correct and R is the correct explanation of A.
(2) Both A and R are correct but R is NOT the correct explanation of A.

(3) A is correct but R is not correct.
(4) A is not correct but R is correct.

SV A ¢ 60 259 1 ARG 60 9 95 F 1000 HiEX 9 2
FRO-R ; 3Tee] 0T USly § e fHuiia gt 8

Il YA & AIS 4, A QT 7Y el # 4 gud ugad S &1 994 Sifag
(1) A SRR T ARR, A &1 I8 amrEm

In the light of the above statements, choose the most appropriate answer from the options given below.

F2 & FuF T3 70§ oF A UFUF (Assertion-A) F F9 F & § & g9 I9F FRU (Reason-R) F FIH




(2) A SRR EH 981 ¢ a9 R, A &1 98 ourem 987 &
() AFSE AfFT RS 8 2
(4) AV T aFT R EE B

1[Option ID=29585]
2[Option ID=29586]
3[Option ID=29587]
4[Option ID=29588]
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Assertion A : Knot density is an indieator of quality.
Reason R : More the number of knots per square inch. poorer the quality.

In the light of the above statements. choose the most appropriate answer from the options given below.
(1) Both A and R are correct and R is the correct explanation of A.
(2) Both A and R are correct but R is not the correct explanation of A.

(3) Ais correct but R 1s not correct.
(4) A isnot correct but R is correct.

19 9 B2 3T Y §: U SHUBYT (Assertion-A) & ¥9 T [AfEd 8 T g8 IHP BRI (Reason-R) P EYH
HfUEHUA-A : T T TUTa BT ES § |

FROLR : Ufda g9 Ui 31 oife Fw= uiaw &1 @X1E Bl ¢ |

IR DY o AdlD 1, Id [SU U [dhed] H § Jgl IR &l 9d- D]

(1) ARREH Tl § IR R. A D ol AT &

(2) A SRR EH T8 8, AT R, AP IS TRAT K ©
@) AT T AfPTR TS SR

() ATEI SIS AR TE®

1[Option ID=29589]
2[Option ID=29590]
3[Option ID=29591]
4[Option ID=29592]

Sl. No.78
QBID:11115148453

Assertion A : After the discovery of synthetic dyes. there was a gradual decrease in the use of natural dyes.

Reason R : The reason was low cost. deep shades, easy processing and color fastness of synthetic dyes in comparison to the natural
counterparts.

In the light of the above statements, choose the most appropriate answer from the options given below:.
(1) Both A and R are correct and R is the correct explanation of A.
(2) Both A and R are correct but R is not the correct explanation of A.

(3) A is correct but R 1s not correct.

(4) A isnot correct but R is correct.

- &1 B U T §: TP SHUHUH (Assertion-A) & ¥9 § [AIREd § T GHT 3HF HRUT (Reason-R) P =Y H
SHHPYF-A : G 60D & AR & GY1d, Wpldd Io9d| & YT H HTIsh e gRT g3 |

PRU-R ; NP IID ! DI gal & TIH! Sold] B BH DI, T, T30 THEpR0T 3R T W&l S9&T SR |
IR Y D el 4, i fau U fawedi O T 9al 3R &1 90 Sifog|

(1) A SRR S T AR R, A B Tl AR R

) ARREH TS T AR A T TS TRAT TR B
(@) AGEE AfPIRTE TS

4) AWEI TR &, APTR WS ©

1[Option ID=29593]
2[Option ID=29594]
3[Option ID=29595]
4[Option ID=29596]
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Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.

Assertion A : The shape of the loom and its machines will be the same. but the basic function will get vary.
Reason R : We are getting different types of weaving.

In the light of the above statements, choose the most appropriate answer from the options given below.
(1) Both A and R are correct and R is the correct explanation of A.
(2) Both A and R are correct but R is not the correct explanation of A.

(3) A is correct but R is not correct.
(4) A is not correct but R is correct.

F19 1 FUF U 0§ 0 AUFUF (Assertion-A) F F9 F & § 1 g9 I9F FRU (Reason-R) F FIH
HUFYA-A : FY R SHS! A B SR U w1 g, g 7w e F i gl

HRU-R ; 51 g1 & a4 J&R 9 &1 3@ B

SIRIed $UF & A H, - QU T FFHed! & § 951 SR &1 994 Sl

(1) A SRR ZH 981 8 SR R. A &1 361 =Rz &

(2) A FRRH w1 T @ R, A &1 w8 arrem T8 2

(3) ATEE AFTRTEA T

(4) AVE 5T aFT R O &

1[Option ID=29597]
2[Option ID=29598]
3[Option ID=29599]
4[Option ID=29600]
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Given below are two statements : One 1s labeled as Assertion A and the other is labeled as Reason R.

Assertion A : Thermoplastic fibers are those that are softened with heat and thus become pliable.
Reason R : In most cases, it melts or may burn or both, sometimes at extremely low temperature.

In the light of the above statements, choose the most appropriate answer from the options given below.
(1) Both A and R are correct and R is the correct explanation of A.
(2) Both A and R are correct but R is not the correct explanation of A.

(3) A is correct but R is not correct.

(4) A is not correct but R is correct.

F19 2 FUA 30 T § 0 AUFUT (Assertion-A) F F9 # &0 § @1 g9 39F R (Reason-R) F FIH
HAFYF-A : TIHTe W 3 § 9 F g g 50 T € SR 59 UeR HFE B e E |

FRO-R : AiFE Amel § 9-F40 e FHyam = o g oia & o o 9%a & O 4 T i sam g wsdi B
IRIE wYE & AaE 8§ A G e fTEat § § 98t 3T &1 99 il

(1) A SRR IF W81 ¢ SRR, A &1 981 @rem §

(2) A R R Sl w6 § @ R, A 1 9 oorem 7
(3) ATEE AfpTREA TR

4 AT TG AR R

1[Option ID=29601]
2[Option ID=29602]
3[Option ID=29603]
4[Option ID=29604]
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Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.
Assertion A : A selvage is the tightly woven edge of a fabric.
Reason R : It prevents the side edge of the fabric from raveling or fraying.

In the light of the above statements, choose the most appropriate answer from the options given below.
(1) Both A and R are correct and R is the correct explanation of A.
(2) Both A and R are correct but R is not the correct explanation of A.




(3) A is correct but R is not correct.
(4) A is not correct but R is correct.
F19 <1 FuF faU T § 0 AUFUF (Assertion-A) F F9 F & § 1 g9 39 FRU (Reason-R) F FIH

HUFYA-A : Jeod (Sedv) FIS F1 Tealdd T g5 R o
SRR : 75 U8 F1 U B ®1 I¥sT a1 iom @ g=dl 2
IR HU= F A 8 4 BE e Gt § 9 98 39 =1 957 Fioml

(1) AJFRREH S8 TR R, A F 92 amEn 7

(2) A R R &l w6 € @ R, A &1 98 oorem 7 &
(3) ATRE dfsAR w2

(4) ATEI 81§ AfFT R W8 R

1[Option ID=29605]
2[Option ID=29606]
3[Option ID=29607]
4[Option ID=29608]
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Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.

Assertion A : Fabric construction involves the conversion of yarns, and sometimes fibers, into a fabric having characteristics determined
by the material and methods employed.

Reason R : Non woven fabrics are gaining importance and include material produced by felting and bonding.

In the light of the above statements. choose the most appropriate answer from the options given below.
(1) Both A and R are correct and R is the correct explanation of A.
(2) Both A and R are correct but R is not the correct explanation of A.

(3) A is correct but R is not correct.

(4) A isnot correct but R is correct.

1 S A U T §: TP 3P UT (Assertion-A) $ F9 H fAfGd 8 Tl gOT IHP FRUT (Reason-R) & I H

HfUHYA-A : HUS P (A0 H urf IR Fl-H W Fue & wuiawu o ufear & sfifed gid 8, e favarnd vea amel ud
faféat gry Fuifd St € |

BRULR : TS IR-§TE dld HUS Hodl P I@ & 3R 5798 A iR W90 §RT Scdd Wt Fiaferd gich ¢ |

IR HYH &b AdID 5. Aid [GU MU [dded] H 4 Jol Ik &l 99— Sio|

(1) A SRR EH T8l ¢ IR R. A D ! R 8

) A 3R R H T 8. AT R, A T L IR TR ©
@) AGS T TR T AR

(4) ATEITEIE AP RTE ®

1[Option ID=29609]
2[Option ID=29610]
3[Option ID=29611]
4[Option ID=29612]
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Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.

Assertion A : Leno selvedges are formed by binding the weft with strong additional threads.
Reason R : Leno selvedges is made by twisting two special ends called as binder ends continuously together and mserting pick between
them.

In the light of the above statements, choose the most appropriate answer from the options given below.
(1) Both A and R are correct and R is the correct explanation of A.
(2) Both A and R are correct but R is not the correct explanation of A.

(3) A is correct but R is not correct.
(4) A is not correct but R is correct.




F19 1 FUF U T 7 0 AUFUF (Assertion-A) F F9 F & § 1 g9 I9F FRU (Reason-R) F FIH
HHFYA-A « T I Aoy Sfaied YR € aFE S ERI S e © |
FRU-R : T T80 997 B TAE 51 089 811 @ o9 61d & 57 TR Sy-9iy |eia g [ o & 3R 9 die H gee STel ol g |

IWiEd HUF & S §, T 3T T fawedt F | wEt SR &1 95 S
(1) A SRR &l @8 § SR R, A &1 95! are @

(2) A ¥R R &l 96 € @ R, A 1 98 oorem 71 &

(3) ATRE dfsAR w2

(4) ATSI T8I E WfFA R T8 R

1[Option ID=29613]
2[Option ID=29614]
3[Option ID=29615]
4[Option ID=29616]

Sl. No.84
QBID:11115148459

Given below are two statements :
Statement I : Oil mordants are mainly used in the dyeing of turkey-red color from madder.
Statement IT : The main function of the oil-mordant is to form complex alum used as the main mordant.

In the light of the above statements. choose the most appropriate answer from the options given below.

(1) Both Statement I and Statement IT are correct.

(2) Both Statement I and Statement IT are incorrect.
(3) Statement I is correct but Statement IT is incorrect.
(4) Statement I is incorrect but Statement IT is correct.

19 3 PYA UL §: U 3B UA (Assertion-A) & &9 1 [Rad § dl gHI GHP DRI (Reason-R) & &G 1
BYA-1 : TI-CT6 D HAd: HSTHT Y Tp] -alTel T &b Y61 J Wi &l &1 &1

DY : 0 - TS| DT HHE BT IEYD D =0 § 7gad (513 fhed) &1 Fafu g

IRIGd HUF & AP T, Aid [SU 7Y fdded & I g1 IuL &l 994 Difon|

(1) YT AR 11 S 9el 8

(2) HYF1 3R 11 A Tad &

() FYTITE B, AfpTpUT n a8

(4) HYT17Tad 8, Al PYUT I HET &

1[Option ID=29617]
2[Option ID=29618]
3[Option ID=29619]
4[Option ID=29620]

Sl. No.85
QBID:11115148460

Given below are two statements :

Statement I : The new religious humanism lays a serious moral obligation on every man and woman of conscience to consider into
whose pockets his money is going.

Statement II : Khadi solves only the moral and social problems.

In the light of the above statements, choose the most appropriate answer from the options given below.

(1) Both Statement I and Statement II are correct.

(2) Both Statement I and Statement IT are incorrect.
(3) Statement I 1s correct but Statement II is incorrect.
(4) Statement I 1s incorrect but Statement II is correct.

F19 21 FUF 3 T & 0% AfUFUF (Assertion-A) F F9 # & § @1 g9 39¢ R (Reason-R) F FIH

FUA-] ; TaTHF AHaaE Yo Adsar qwY 09 Afta & 99 R fE ale Ram s e F e W Sesi e W wi B
FUF I : WIET A 40P AR FHETE FHEE BT THYE SOl 2
SRIad BYF F HWE H, =" u U el § 9 51 STR ®1 999 Sl

(1) =1 SR A w8 &
(2) Y1 3R I1 EF 7oa &




G) BRI E T sE I T E
(4) FYF ] oA E, A U I W8 &

1[Option ID=29625]
2[Option ID=29626]
3[Option ID=29627]
4[Option ID=29628]

Sl. No.86
QBID:11115148461

Given below are two statements :
Statement I : Work with Charkha 1s an aid to meditation.

Statement II : Weaving of textiles on looms began during the Neolithic age.

In the light of the above statements. choose the most appropriate answer from the options given below.
(1) Both Statement I and Statement II are correct.

(2) Both Statement I and Statement IT are incorrect.

(3) Statement I is correct but Statement I is incorrect.

(4) Statement I 1s incorrect but Statement II is correct.

TRt HrAfumug:

HYU 1 - TGN BT &1 BT U JU 2

DU : XY IR | DI 15 FGUIUEHTE & GRH RY §g AT

SRIHS DY & 3ffelled o, i AU 70 fadedl § 9 9 IUgad SR &1 90 Pl :

(1) SYT1IRISH TS 8
(2) Y1 3R 11 S TTed &
(3) FYTIIE! . AP HUT 11 7o &
(4) HYT 17 8, Al YT I T

1[Option ID=29629]
2[Option ID=29630]
3[Option ID=29631]
4[Option ID=29632]

Sl. No.87
QBID:11115148462

Given below are two statements :
Statement I : Bipuri ajrakh is printed on both sides.
Statement II : Indigo dyeing is done mn the Kutch region of Gujarat.

In the light of the above statements. choose the most appropriate answer from the options given below.

(1) Both Statement I and Statement II are correct.

(2) Both Statement I and Statement IT are incorrect.
(3) Statement I is correct but Statement II is incorrect.
(4) Statement I 1s incorrect but Statement II is correct.

TR ey fenmE
HY [ ; gl oave ST ave gid @) S R |
HYA [1 ; 10 IoF TorTd & &= &4 # &1 oar 2

SIRIed $U & A H, -4 14U T B & 9 969 Sugad Sud & 994 S ;
(1) ] SR 11 T 9 &

(2) FYA1 R I &Hf o

(3) T TR IS e

(4) FF 1 79a &, A S 11 981 &

1[Option ID=29633]




2[Option ID=29634]
3[Option ID=29635]
4[Option ID=29636]

Sl. No.88
QBID:11115148463

Given below are two statements :
Statement I : Mihrab 1s a traditional motif of Kalamkari.
Statement II : Tree of life 15 a traditional motif of rogan painting.

In the light of the above statements. choose the most appropriate answer from the options given below.

(1) Both Statement I and Statement IT are correct.

(2) Both Statement I and Statement IT are incorrect.
(3) Statement I is correct but Statement II is incorrect.
(4) Statement I is incorrect but Statement II is correct.

FHYF 1 : [IEvd FaAGR] HT IRURSG Tuac] f3aE gl

YT 11 : &1 3T A5 I Ui &1 gRufke goradt fSems— g1

(ol ot

SURIH DY & 3fTedled H, =i 4T T fasedl 79 ¥ Jad SUgw SR B 994 DIy

(1) P IR IS TET 7
(2) FHYF1 AR 11 SHI 7Tad §
() FYTITel §. AP HUT I Tad &
(4) HYT 17T T, AP PU 1 T E

1[Option ID=29637]
2[Option ID=29638]
3[Option ID=29639]
4[Option ID=29640]

Sl. No.89
QBID:11115148464

Given below are two statements :

Statement I : Weaving is a method of textile production in which two distinct sets of yarns or threads are interlaced at right angles to
form a fabric or cloth.

Statement IT :  The other methods are embroidery, kantha stitch, chickankari.

In the light of the above statements. choose the most appropriate answer from the options given below.

(1) Both Statement I and Statement II are correct.

(2) Both Statement I and Statement II are incorrect.
(3) Statement I is correct but Statement II is incorrect.
(4) Statement I is incorrect but Statement IT is correct.

TR eufoumn®
FUA 1 : TS T AT F1 us 3 2 5 @t o et $ 2w oo BhEe o wu2 =1 e s fw amen w siadfta g 8

®Y 11 ; o fafiel sdiiererl, e R, e €1

Iudied HuUE & e A, A G T fdeedl # 9 999 3uged 9Tk %1 90 Bl
(1) FF] AR eH T &

(2) Ty R SHf A §

(3) AT 2 AR s [ o &

(4) FF] TE R, AT HE I TS

1[Option ID=29641]
2[Option ID=29642]
3[Option ID=29643]
4[Option ID=29644]




Sl. No.90
QBID:11115148465

Given below are two statements :

Statement I : Historically, the term selvedges referred only to loom wowven fabrie, though now it can be applied to flat knitted fabric.

Statement IT : Selvedges are the edge run parallel to the warp and are created by the weft thread looping back at the end of the each
TOW.
In the light of the above statements, choose the most appropriate answer from the options given below.

(1) Both Statement I and Statement II are correct.

(2) Both Statement I and Statement IT are incorrect.
(3) Statement I is correct but Statement II is incorrect.
(4) Statement I is incorrect but Statement IT is correct.

TRd s Ry
FYA | ; Ufeeies T 8 9099 9 $o0 =39 $ g4 9%l 5 [0 Uged 5ia U1, T o9 O% THGT 94 U $US W u0ed §f 9%l 2|
FUF 11 : ¥ T9F & SRR FR W B § R 99 5N 7S Ui F ofd | 93-u &9 &

TR FYF F A 1, A Y T e § 9§ 969 Suged SOl B 997 S

(1) FF] AR e T 8
(2) ®Y=1 AR I Hf 7ea &
(3) TFIWEE AP s [l Taa &
(4) =Y 7o ©, A B 11 981

1[Option ID=29645]
2[Option ID=29646]
3[Option ID=29647]
4[Option ID=29648]

Sl. No.91
QBID:11115148466

Given below are two statements :
Statement I : Flax is the newest and the most rarely used natural fiber.
Statement II : The usage of the fiber was limited by natural fiber such as flax, cotton. silk, wool and plant fiber for different applications.

In the light of the above statements, choose the most appropriate answer from the options given below.

(1) Both Statement I and Statement II are correct.

(2) Both Statement I and Statement IT are incorrect.
(3) Statement I 1s correct but Statement II is incorrect.
(4) Statement I is incorrect but Statement IT is correct.

BIERACZIE RO g
FYA | : Wi 790 SR Sdd goH w9 9 F0 501 719 9 Wig s =0 &
Fu 11 : fafim ool & Rm wiew, $ied, IWW, 34 SR 0ed = 3 idshos =1 gR1 38 &1 70w i 2 faar mr

TIRIed $YF & A F, - Y T A § 9 969 Sugad I% B 997 S
(1) wyA ] SR I EH w8 &

(2) By ] R I S e &

(3) FUF1 T 2, ST S 11 e &

(4) FFITEa e AP S T8 &

1[Option ID=29649]
2[Option ID=29650]
3[Option ID=29651]
4[Option ID=29652]

Sl. No.92
QBID:11115148467




Given below are two statements :

Statement I : The GSM of the fabric represents its weight in gram/m?.

Statement II :The GSM is a metric measurement unit of surface or areal density which is used for measuring the thickness of the sheet
material.
In the light of the above statements. choose the most appropriate answer from the options given below.

(1) Both Statement I and Statement IT are correct.

(2) Both Statement I and Statement II are incorrect.
(3) Statement I is correct but Statement II is incorrect.
(4) Statement I 1s incorrect but Statement II is correct.

FYA 1 - Siteaed AR § $YS & SHP du Bl WRqd Hdl gl
DY 11 : SITHUH e 31YdT =191 & Hie! HITH B 5T ¢ ol Yiie el S AT & A9 & [ ST &1 ol € |

Fm

SIS PYF & 3frelie o, i AU 70 fadeedl § 9 9 Iugad SR &1 90 Sifuid -

(1) HYT1 R 11 GH Fel 8
(2) Y1 RIS e &
(3) HYF1Te! §. U Y= 11 7T0d &
(4) HYT 17 8, Al YT I T

1[Option ID=29653]
2[Option ID=29654]
3[Option ID=29655]
4[Option ID=29656]

Sl. No.93
QBID:11115148468

Given below are two statements :

Statement I : Plain, or Tabby weave, the simplest and most common of all weaves. requires only two harness and has two warp and
weft yarns.

Statement II : To produce it, the warp yarns are held parallel under tension while crosswise weft yarn is short.
Over and under alternative warps across the width of the web.

In the light of the above statements. choose the most appropriate answer from the options given below.

(1) Both Statement I and Statement II are correct.

(2) Both Statement I and Statement II are incorrect.
(3) Statement I is correct but Statement II is incorrect.
(4) Statement I is incorrect but Statement IT is correct.

Jodr s feemwE:
HUT | ; W1, T1 HieranE, 9 g15a! § SReaH U9 s 9 6, [ R o & 99 U @1 sroxaedl il & SR R aH-aH ¥ S 99 6 B

HUF [ : 585 TEIGH & [, TH F T 059 & Ao a FEEFHE 51 5, TEie, a1 GAa B 95TE $ AR 9% Gedl aue W AR 9 e mie
(&) BT &

IuiE B & e A, A fau T [deedl # 9 999 Iuged 9Tk &1 90 i
(1) FF] AR EH T &

(2) ST AR 11 SHF 7o &

(3) AT 2 AR s I o &

(4) T [ 7T 2, A Fue 1 98

1[Option ID=29657]
2[Option ID=29658]
3[Option ID=29659]
4[Option ID=29660]




Sl. No.94
QBID:11115148469

Match List I with List IT

List I List IT
1A [Ecocirele [ PMMordant
B. Madder 1. [Recvcled polvester fiber
C. [Safflower 1. |Rubia cordifolia L.
D |Alum V. |Carthamus tincrorius

(1) A-I, B-1I, CIII, D-IV
(2) A-II, B-III, C-IV, D-I
(3) A-IV, B-III, C-I, D-II
(4) A-III, B-I, C-IV, D-II

Yal-1 & Gy GaI-11 T e SHiforg

T 1 et 11
A [zEmsd I [YEYE

. UTdishd Ulfere?
B. |Hfamr II. ]
C. ﬂ'l—[ 101 %Wﬂﬂm
D. |Wedd V. |y ey
Hid fGu T fasey © © Uel 3L &l 999 HIolU -

(1) A-I. B-1I. C-III. D-IV
(2) A-I B-III, C-IV, D-I
(3) A-IV, B-III, C-I, D-IT
(4) A-III, B-I, C-IV, D-II
1[Option ID=29661]
2[Option ID=29662]

3[Option ID=29663]
4[Option ID=29664]

Sl. No.95
QBID:11115148470

Match List I with List IT

List I List IT
1A |Substantive natural dves [. |need one mordant
B. |[Adjective natural dves [I. |Tannin mordant
C. |Potassium dichromate [II. [Need no mordant
D. Myrobolan V. [Metallic mordant

(1) A-I B-II, C-III. D-IV
(2) A-IIL B-IIL C-IV. D-I
(3) A-IV. B-III. C-1. D-II
(4) A-IIL B-L. C-IV, D-II

Teil-1 & F1Y Fai-11 DT T Hiforg
T T 1
A [P TP [ | TS @
' IR 31F) C | SHIaE Sl
5 |TOWETES iPlie e | Sy
C. |Uiefars SIgmie L1 P
D. |dERE[E V. |unfd® TEY®

i fGu T fosey © O Uel 3 &l 944 HIoT -




(1) A-L B-II, C-I1I, D-IV
(2) A-II, B-TII, C-IV, D-1
(3) A-IV. B-IIL. C-I. D-IT
(4) A-III, B-I. C-IV, D-II
1[Option ID=29669]
2[Option ID=29670]

3[Option ID=29671]
4[Option ID=29672]

Sl. No.96
QBID:11115148471

Match List I with List IT

List-1 List - IT
A [Kasutt 1N Patola motif
B [Nazar buti . |Chikankar
C. [Navratna bhat M. |Chope
D MMurri V. [Karnatak
(1) A-L B-II, C-III, D-IV
(2) A-II, B-III, C-IV, D-I
(3) A-IV, B-III. C-1, D-II
(4) A-III B-I. C-1IV, D-1I
Geil-1 & FrY Gail-11 D1 e Sy
gl 1 T 1
A |Dd L |ucien #ife®m
B. [TeR&d I |Reder
C |[AREue . |dig
D | IV |@Hled
- fau T faoed # 4 96t SR &1 90 DI -
(1) A-L B-II., C-III. D-IV
(2) A-II, B-III, C-IV, D-I
(3) A-IV, B-III, C-I, D-II
(4) A-III. B-I. C-1IV, D-1I
1[Option ID=29673]
2[Option ID=29674]
3[Option ID=29675]
4[Option ID=29676]
Sl. No.97
QBID:11115148472
Match List T with List II
List-I List - IT
A |Gavant: 1. [Kantha
B_ |Ashta Nayka II. [Double running stitch
C. |Telia Rumal III. [Chamba Rumal
D. [Bayton IV [Double ikat

(1) A-L B-II. C-IIL. D-IV
(2) A-IL B-III. C-IV. D-I
3) A-IV. B-II. C-1. D-II
(4) A-IL B-I. C-IV. D-II




Teil-1 & F1Y Fei-11 DT T Hiforg

I g 1
A | L |
B. |ofF AR I [ared R
c |dfem =mm@ . |der&a
D. [geq V. |glesen
14 fau U fasbed O 9 gl STk 1 99 ST -

(1) A-L. B-II. C-IIL. D-IV
(2) A-IL B-III. C-IV. D-I
(3) A-IV. B-III. C-1. D-IT
(4) A-III B-I. C-IV. D-II
1[Option ID=29677]
2[Option ID=29678]

3[Option ID=29679]
4[Option ID=29680]

Sl. No.98
QBID:11115148473

Match List I with List IT

List - I List - IT
A |Zalakdozi 1. |[Patola motif
B. [Reshmi Sheesha . [Sindh
C. [Nari Kunj Bhat 111 |Bagh
D. [Suf V. [Hook embroidery

(1) A-L B-II. C-IIL. D-IV
(2) A-IL B-IIL C-IV. D-I
(3) A-IV.B-III. C-1. D-II
(4) A-IL B-L. C-IV. D-II

YeI-1 & F1Y Y11 DT FHa Siforg
T T Tt I
PN ERCAE | L |ucien fifewm
B. |3zt gfen (R
C. TS He . (&’
D |gw V. |g® Teasd
el qU U fdeed O & et 3wk 1 994 PIoU

(1) A-L B-II. C-III. D-IV
(2) A-IL B-III. C-IV. D-1
(3) A-IV. B-III. C-1. D-IT
(4) A-IIL B-I. C-IV. D-II
1[Option ID=29681]
2[Option ID=29682]

3[Option ID=29683]
4[Option ID=29684]

Sl. No.99
QBID:11115148474

Match List I with List IT

ListI List IT
1A Muga Silk [. |Andhra Pradesh
B_ |[Bhagalpuri Silk 1. |Assam
C. [Jamdani M1 |West Bengal
D. [Kalamkari IV. [Bihar

Choose the correct answer from the option given below :
(1) A-II B-III. C-I. D-IV




(2) A-IL. B-IV. C-III. D-I
3) A-IV.B-III. C-1. D-II
(4) A-IL B-I. C-IV. D-II

Heil-1 & A1 Fei-11 1 e Biforg
T 1 et 11
A |gmEH L |aftymem
B. |YFTOQI®H I |3&d
C. |ow=gEH I |OfEE s
D. |®aHaerd Iv. 48R
i fGu T fomey © O Uel 3L &l 999 HIoTg

(1) A-II. B-III. C-I. D-IV
(2) A-IL B-IV. C-III. D-I
(3) A-IV. B-III. C-I. D-II
(4) A-III B-I. C-IV. D-II
1[Option ID=29685]
2[Option ID=29686]

3[Option ID=29687]
4[Option ID=29688]

Sl. No.100
QBID:11115148475

Match List I with List IT

List I List IT
A |Cotton [ |Svnthetic manmade
B. [Sik 1. |Natural vegetable
C. [Polvester MI. |Natural Animal
D. |Glass Fiber V. |Other manmade fibre

Choose the correct answer from the option given below :
(1) A-IV, B-III, C-I, D-II
(2) A-IIIL B-I, C-IV, D-II
(3) A-II, B-III, C-I, D-IV
(4) A-I B-IL C-IIL D-IV

YeI-1 & F1Y Y11 DT FHa Siforg

I 1 I 1
A @l L |t AFafiEa
B [®H . (Ui gefd
c. |difereR I |HThicd sig
5 T ISR (B B % 3 AHEaHET
4 AU U fdew O 9 98t Sk &1 94 FIfU -

(1) A-IV, B-III, C-I, D-II
(2) A-IL B-I. C-IV, D-II
(3) A-I B-II, C-I, D-IV
(4) A-I B-1I. C-III. D-IV
1[Option ID=29689]
2[Option ID=29690]

3[Option ID=29691]
4[Option ID=29692]




